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Aufgaben-Quickname: 6677

Aufgabe 1

Berechne in zwei Schritten, in dem Du die zweite Zahl zerlegst. Trage die fehlenden
Zahlen ein.

4 2
a) 3649: 3655402545 b) 63+9: 63—70-2572
) 4747 4755050 d) 6448 640570272
¢) 5547 55 s60—2562 ) 4447 4455015551

+1 +2 +5 +3
g) 4943 491550552 h) 2548 25530533
. +5 +1 R +5 +3
) 3516 3540541 §) 6548 655702573
Aufgabe 2

Berechne in zwei Schritten, in dem Du die zweite Zahl zerlegst. Trage die fehlenden
Zahlen ein.

a) 26-8: 26— 20—18  b) 52-6:  H2—s50—s46
¢) 556 55—-50—49  d) TA-8: TA——T0—66
¢) T6-8: T6—H70—68 ) T7-9: TT——70—>68
g) B8—9: H8—50—49 h) 68—9: 68—60——59
) 234 23—520—519 j) 64-T: 64——60—57
Aufgabe 3

Berechne in zwei Schritten, in dem Du die zweite Zahl zerlegst. Trage die fehlenden
Zahlen ein.

a) 578 5T—550—-49 b)) 1647 16—--20—523
¢) 93-8: 93—500—585  d) 6646: 667072
o) 4744 47550551 1) 87-8:  87T—80—79
¢) 31-5: 31—-30—526  h) 63-T: 63—-60—s56
) 4648 46550154 i) 21-5 21—520—516
Aufgabe 4

Berechne in zwei Schritten, in dem Du die zweite Zahl zerlegst. Trage die fehlenden
Zahlen ein.

2
a) 5440 545602563 b) 4448 445502552
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¢) 554T:
e) 34+9:
g) 37+8:
i) 18+7:
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5505602562 d) 1646: 16——520—2+22
3405402543 £) 4548 4525502553
3725402545 h) 78+4: 7825802582
1875002505 ) 4249: 42555051

Viel Erfolg!
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